980909

980909

18.09.24




A1 K2 K50 L8
468 mm
24 1hx @ 6x e 1x @ 12x
1M1 149 117 002 112 401 111 607
C SBV 12 010
8x 14 x 20x 8x
S X U
111 1030 111 xxx| 11 61| 11 052
F3 G1 35x 15 mm K100 T1 63x105mm SP13 & x 13 mm
D I D 8x w 53x y 2X % 30x 3x
121 370 112 400 112 055 121 122
SW-LP SW-M& SW-M6x20 SW-SKM 0 —
1x (Ta 2X P | 2x 2x —
= <0, o B
SW-FP SW-LD SW-AK SW-SKL =n
a 1x (ﬁ 1x % bx 1x \(EE 20mm =
LA12175 N ;
SW-AS GH13 M4 x 13 mnl SW-SKR 30 mm =—
/ 2x 1X W 5x .a. 1x ? =
s— 121 xx¥ | % 40 mm =3
SW-VLP SW-LA G43 Mo x10m G4 35x35mm —
W | ™ - 2x 5x || & | 2x % 0 mm =
= = AT 121 xxx 121 375 —
SW-VFP SW-LB SW-F1 SP13 4 x 13 mn 60 mm E——
g 1x :'C’ 2x @ 6x Q% [100x X =
el 21| A12116 121 122 210 10 mm =
SW-MH SW-ST SW-F2 T2 63 x105m —
Au\ —
W 2x 5 2x % x| P |38 80 mm = —
111 030 —
SW-AMD SW-STM SW-F3 H5 %0 mm E—=—
B | x| [ R, | ™ % bx || <32 | 6 =
114 _183] 100 mm
2X
— | I %
(0 2x () 2 (1) 2x
2124 mm

980909 | 18.09.24 09 24 |2 / 45




it

2160x577x15 216056015 2160x577x15

2x K:)

2x (12

964x560x15

6x 22

145x708x15

964x500x18

2x |(P)

2111x9%3x2,5

2x:<:>

3x @)

990x708x15

96L4x560x47

2111x484x2,5

®

L15x560x15

415x500x18

o o°|
% &)

L75x560x47F

L

R

980909

18.09.24

09 24 |3 / 45




09 24 |4 / 45

18.09.24

980909




980909 | 18.09.24




980909

18.09.24

09 24

6 / 45




11e

A\

17e

<

980909 | 18.09.24 09 24 |7 / 45




SW-AK

| 3

N

SW-M4Lx8

SW-AK

S

980909

18.09.24

09 24

8 / 45




980909

18.09.24

09 24

9 / 45




980909

18.09.24

09 24

10 / 45




6,3 x 11 mm

11/ 45

09 24

18.09.24

980909




11d

A&

980909

18.09.24

09 24 |12 / 45




10

SW-AK

980909

18.09.24

09 24

13 / 45




SP13

L x 13 mm

11

09 24 |14 / 45

18.09.24

980909




980909 | 18.09.24




13

4155

(£9)

980909

18.09.24

09 24

16

/ 45




11d ﬂ

09 24 |17 / 45

980909 | 18.09.24

14




15

)

SW-AK

S

SW-AK

980909

18.09.24

09 24

18 / 45




3,5 x 15 mm

G1
SO

09 24 |19 / 45

18.09.24

980909

16




09 24 |20 / 45

18.09.24

980909

17




18

N

Ay

6,3 x 10,5 mm
G1 %
35 x 15 mm
F3 S0
1 o€l
F3 F3
> %g
0
0
0 F3
F3 :07
(= (=
NV 2% S0
2x S0
980909 | 18.09.24 09 24 |21/ 45




19

{
{
SW-SKL

F |
: Sw-SKL

SW-SKL

>

/Al
L=/

(V)
=
(2
e
pu

E\
N

—
—_

6,3 x 10,5 mm

N

980909

18.09.24

09 24 |22 / 45




20

O

www.wimex-online.com/
\ mon’ragevideo/582020.mph/

/.

8
A

980909

18.09.24

09 24

23 / L5




980909

18.09.24

09 24

24 / L5




22

a3 /1

_/

980909

18.09.24

09 24

25 / L5




980909

18.09.24

09 24

26 / L5




24

980909

18.09.24

09 24

27 / L5




v

980909

18.09.24

09 24

28 / L5




26

980909

18.09.24

29 / L5




271

m/
fg d /582020 mpk
S— o e

e |
= -.'..- L g |
|

)

ey

8
¢

980909

18.09.24

09 24

30 / 45




N

L
K
G

e
4
o

3,5 x 15 mm

K100/
957 mm
K50

~

468 mm

980909 | 18.09.24 09 24 |31/ 45




29

SW-LP

L= 1279 mm
L= 1151 mm \

"SW-LP, L=1151 mm

=N

N

(73]

W-LP

G43

ML x 10 mm

GH13

&

M4 x 13 mm

T GH13

(=

o (43

G43

SW-LP, L=1279 mm

T GH13

980909

18.09.24

09 24 |32 / 45




30

SW-LP, L=1279 mm

31

M4 x 10 mm

GH13 GH13 GH13

G43 G43

980909 | 18.09.24 09 24 |33 / 45




980909

18.09.24

34 / 45




34

Y

SW-M6x20

G14

(e ) <

SW-M6x20

980909

18.09.24

09 24 |35 / 45




SW-FP

L= 789 mm

1640 mm

N

G1

SW-VFP

\

\///\/W

980909

18.09.24

09 24 |36 / 45




36

Lx
SBV| .

SB\V

350

SBV

350

SBV

| sBv

1 SBV

500

980909

18.09.24

09 24 |37 / 45




37

G1

V12

212

G1

3,5 x

9 Q

15 mm

~

980909

18.09.24

09 24

38 / 45




980909

18.09.24

09 24

39 / 45




39

1.

SW-LA + SW-LB

SW-F3

U1

6. SW-LA + SW-LB

980909

18.09.24

LO / 45




SW-LE + SW-LD

‘l!\)

980909

18.09.24

L1/ 45




41

1

SW-LA + SW-LB

SW-LA + SW-LB

6.

09 24 |42 / 45

Ve

m

5.

e

7.

980909 | 18.09.24

SW-F3

IS
SW-F3




42

L x 15 mm

010

09 24

L3 / 45

980909

18.09.24




WoYBUIUO-XAUMDH NS 1B €€ 8658 10750 (67°)°X83 0 8658 10750 (67°) oL
fuewsag /a4jnyuaniewsbioay zligh /4041 Yeysod / 9Y0) § HALD SIapueH jiodx3 flodu| J1epaquyom XIiM

‘uawwousaqn bunjjey 13)J3uldY UBPBYISYIES J3PO /pun
-U3U0SJ3y 13q pJim 3bejuol| JayIsjuuewyIey 4yIu J3po /pun JabigewsylyIsion Jyiu 13g
i JOA SUN JIM UB}|RY3Q'PUIS §3PINYIS3D 4410yIsio4 UBYISIUYIR4 wap 3 usbuniapuy

09 24 |4k / 45

(X ) (0LE 1219

18.09.24

I

)

980909




o

23203 MoKy I

de MAX MUSTERMANN

Kommission / your order

3377 MINDEN 7

o

Dekor / Decor,
F99
F99842  SCH

PLANKENEI

PLANKENEICHE NACHBILJUNG

SOCKEL

pakef @wonXs | 5

HSP-SWT_ BUD SONFEXT/EEX SOCKEIN32 FRESH — ™7 7 *
$0-BOD TEXT RASTEX//ZWBOD DIBMIN{X KLSTA 104

T Ke-a N
SOCKEL32 .KLEB
SAMPLE

Modellname
Model

IMEX Wohnbedarf
port Export Handelsges mbH & Co. KG

23.08.19

Produktionsdatum
Date of manufacture

9

———

980909

18.09.24

09 24

L5 / 45




980741

D

W

——————

4 [g%l/%]\
{@ J &,

980741

24.05.24 / 15.08.24

05 24

1/7




SW-AK

900147015

L X BW%P13

121122

6,3x 10,5 mm T2

111030

SW-MLx8

10 mm

20 mm

30 mm

=

=

2124/7316x990x15

980741

24.05.24 / 15.08.24

05 24

2/




SP13
L X 13mm

121122

24.05.24 / 15.08.2405 24| 3/7

980741




190014 /015

OK

980741

24.05.24 / 15.08.24

L/7




SP13
L X 13mm

121122

24.05.24 / 15.08.2405 24| 5/7

980741




980741

24.05.24 / 15.08.24

05 24

6/7




1900147015

AR ()

980741 | 24.05.24 /7 15.08.24 05 24| 7/7




